WIDTH

WIDTH

BACK OF SIGN

5/16" NYLON INSERT LOCKNUT

GALVANIZED
U-CHANNEL POST

4

N

“ \\L_3/16” X 3/4" NYLON WASHER
5/16"” x 7/8" FENDER WASHER

FRONT OF SIGN

SIGN AND U-CHANNEL POST ASSEMBLY DETAIL

FOR GALVANIZED U-CHANNEL POST., SEE NHDOT STANDARD SPECIFICATION
FOR ROAD AND BRIDGE CONSTRUCTION BOOK., SECTION 615.

THE STAINLESS STEEL HEX HEAD BOLT LENGTH SHALL BE INCREASED
T0O ACCOMMODATE A THICKER SIGN MATERIAL.

THE POST SHALL BE SET A MINIMUM OF 3 INCHES TO A MAXIMUM
OF 6 INCHES BELOW THE TOP OF SIGN.

U-CHANNEL POSTS SHALL NOT BE SPLICED AND DO NOT REQUIRE
CHANNEL BRACKETS.

U-CHANNEL POSTS SHALL BE INSTALLED 36” OR GREATER BELOW
EXISTING GROUND.

GENERAL NOTES

BRACKETS: ALL SIGNS TO BE FASTENED TO POSTS WITH
POST CLAMP ASSEMBLIES AS SHOWN.

SIGN WIDTH 36" OR LESS MAY BE MOUNTED ON ONE (1)
U-CHANNEL POST.

RECTANGULAR SIGNS 72" x 48" DR LESS MAY BE MOUNTED
ON DUAL U-CHANNEL POST. DIAMOND SHAPE SIGNS GREATER
THAN 36" SHALL BE MOUNTED ON ALUMINUM TUBING (INTERSTATE).

SIGN HEIGHT 48" OR LESS, CENTER CHANNEL BRACKET
MAY BE OMITTED.

DIAMOND SHAPE SIGNS 48" OR LARGER REQUIRE TWO
CHANNEL BRACKETS.

SIGNS 72" x 72" OR GREATER SHALL BE ALUMINUM PLANK.

< / " - = g m 5/16” X 2_1/2”
(7'=6" MAX.) = [ (36" MAX.) HEX HEAD BOLT
© 2" ZI B2, 2 © X X 5/16" x 1/2"
, * lj ’4 Ir VL'< VL'< 1 >‘ !4 * |—> . > ‘—| FLAT WASHER
| . | I | L | A 4 T )
e —HHE-— 3 I 5 S ——— I
T +—T~ E , : . S5 I
ol L | | | . : |
SE| L SEE
SEE s | , | L el w8 (TYP.) =S X ALUMINUM SIGN
o= %—— ‘Ff‘ﬂTﬁ‘—"?—"—‘#"‘—W%‘—Trﬁ"f‘%' o= {— o] ( BL ANK
Sls s . | | | | | | = | /
T|O ofX | | | | || CHANNEL | . | &
© T o ' | ' 1 | “TBRACKET B X /
N I | | | | J| = ::H < 6" (TYP.) J
Ey=g g —e - — e -} V| i
Y S — | i | —— Y \‘+ o= ALUMINUM SIGN BLANK
3 l i l i
\LO " " " =z
1/5 3/5 1/5 Z 172w |l|1/2w
- - - S |- -
| | s "
© 4" O.D.
| |
|
I
ALUMINUM POST SPACING
CHANNEL
BRACKET
SEE DETAIL
//A//
" E=E===? POST CLAMP 4" DIA.11 GAUGE
13/16 <<.|ll -
A 3
1-5/8"
ALUMINUM
CHANNEIL BRACKET 14 GAUGE SIGN BLANK\
FRONT R
OF SIGN
" SRR
5/16" x 1-5/8"
HEX HEAD BOLTS
5/16" FENDER WASHER CHANNEL BRACKET
3/4" 0D X 5/16"
NYLON WASHER
N\ 5/16"” FENDER WASHER
POST "
0sT P 5/16" HEX NUT
CLAMP CHANNEL
\\\ )/—_BRACKET
2 """" Z SIGN BLANK ATTACHMENT DETAIL
M
5/16" CAP SCREW
LOCK NUT
2-7/8" FLAT WASHER—A]
N POST CLAMP ASSEMBLIES
DETAIL A 1. SEE SPECIFICATION 615.2.7.3 FOR ADDITIONAL

INFORMATION REGARDING THE CHANNEL
BRACKET AND POST CLAMP.

5. USE 5/16” STAINLESS STEEL CAP SCREW
WITH 2-7/8" 0.D. WASHERS & LOCKNUT
FOR CLAMP CONNECTION.

STANDARD
NO. PS-3

REVISION DATE

07-13-2001

02-26-2010

*.DGN FILE NAME

PS-3

SIGNING STANDARD

ALUMINUM SHEET DETAILS FOR
TUBING & U-CHANNEL POSTS

n
Z
<
—
al
0
1
<
O
<ZE
—
n

/ .

ATy E

Department of Transportation

/*jkvtf f42£¢¢»

STANDARD
NO. PS-3




